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Experiment noies
Math 2250~1
Wednesday October 26
Pendulum: measurements and prediction:
> resiart |
Digits = 4 :

s L= 1,526
g = 9.806;
w == sqri{ g/ L}; # radians per second
f = evalf {@/ {2%Pi}) ) # cycles per second

= 1/f # seconds per cycle

Lo 1526

g = R0

@ m 2,535

[=04036

T=2478
Experiment:
Mass—spring:

compute Hooke'’s constant:
- 104.0 — 88.3; #displacement from extra 50g

] 057
S w, # solve k-x=m g for k.
A57
i L3123
> m o= .1: # mass for experiment is 100g

o = sqr{( i ]; # predicted angular frequency

@
1= evalf [ T }; # predicted frequency

T }; # predicted period

g 0,1
@ = 5,588
fri=0.8893
T=1.124

Experiment:
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i Mxx™ 4+ kxx = O
M k)20
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=0,
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© = buﬁs ‘HM‘S s‘awpmxre o {waé,«c_‘!\c\-:?
T s OiL # spring has mass lig

#

+msl 3 # Teffective mass”

s = LOTH]
M= 0,1037

At
> = sl ( W ,} o # predicied angular frequency
A\

| . .
K # predicted frequency

i
L‘f?
N

I . :
= # predicied period

oy = 5,488
Fi=0.8734
7= 1145
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